12 GA. GALV. COMMERCIAL TOP
ROLLER BRACKET ATTACHED
W/<¢4> 1/4" x 3/4" HEX HEAD
SCREWS PER BRACKET

TYPICAL TOP FIXTURES

2’ 10 BALL 9.5° STEM STEEL

3 HURRICANE ROLLER W/ 7/16'
oo o RETAINER FOR NON-THREADED
X E 11 L) SHAFTS
l;[ﬂto
[{0® 66 ’
K 5.5 18GA. STRUT ATTACHED
W/ (3) 1/4" x 3/4"
(oo HEX HEAD SCREWS AT

EACH END STILE

N.T.S.

@

5.5’ 18GA. R-TRUSS
ATTACHED W/ (@
174" x 3/4" HEX
HEAD SCREWS AT

CENTER STILE

TYPICAL CENTER

14GA. CENTER HINGE ATTACHED
W/ (4) 1/4" x 3/4*
HEX HEAD SCREWS

12 GA. END HINGE ATTACHED
W/ @) 1/4" x 3/4"
HEX HEAD SCREWS

14GA. #3 ROLLER CARRIER
ATTACHED TO R-TRUSS W/ °3 *
(3 174" x 3/4* HEX HEA S s
SCREWS PER CARRIER A

2’ 10 BALL STEEL
HURRICANE ROLLER W/ | =
7/16* RETAINER FOR
NON-THREADED SHAFTS

14GA. ROLLER CARRIER
ATTACHED TO END
TILE W/ (4) 1/4" x
3/4" HEX HEAD
SCREWS PER CARRIER

N.T.S.

p s s — A

\ @ COMMERCIAL ENDSTILE
.o SLIDE LOCK ATTACHED
TO R-TRUSS W/ (4
HINGE 8 0 174" X 3/4° HEX HEAD
SCREWS

s

(KL

(KX

B a2 : TYPICAL END HINGE 3
1 s N.T.S.

327 MAX

SECTION
HEIGHT

\
O]

O T J

b

=

s

\ o ] N\ r

EMBOSSMENTS
NOT SHOWN
FOR CLARITY

TYPICAL TOP

SECTIIIIN\

24 GA. <.022" MIN)
W/BAKED ON
POLYESTER FINISH

TYPICAL
INTERMEDIATE
SECTION

TYPICAL BOTTOM

SECTION \

o
. :Eg [
o
o L J
3 5.5 18GA. R-TRUSS
= a = / [ X J ATTACHED W/<4)> 1/4* X
H BB #1 14 GA. ROLLER 'CARRIEE /£ ] 3/4* HEX HEAD SCREWS
! i | ATTACHED W/(3> 1/4* X 3/4 AT END STILE
% HEX HEAD SCREWS AT EACH
DOUBLE END STILE [
. AY = ON BOTTOM SECTION e®
\ oo 8 BOTTOM BRACKET 13 GA.
° (MIN.> THICK ATTACHED
e W/¢3) 1/4* X 3/4" HEX

2’ 10 BALL STEEL
HURRICANE ROLLER

HEAD SCREWS

o am—

o T—

o —

W/9.5 STEM AND (1)

7/16" BOLT RETAINER

I

H R H % R R USED FOR NON \ ) n
H H E H H H d THREADED SHAFTS ON
BOTTOM SECTION
N N : : : . . : TYPICAL BOTTOM BRACKET 4
N.T.S.
* * * * * * * F 38 I
i i H H H H H |
INTERIOR OF GARAGE
— —=| MAX. WDTH 160"  |~=—
5’ 3' 3' 3' 3’ 3' 3'
l——~=24 5 23 7 23 7 23 2 23 2 23 2 23 7
16'-0* MAX | pesion Loaps [T T[T T TTTTT]
S T o
INSIDE ELEVATION
N.T.S.
SPECIFICATIONS AND NOTES
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL
TRACK,FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
wOOD BLOCK BEHIND EACH END STILE <2) PER SECTION TRANSFERRED FROM THE DOOR.
3 3/4" MIN. 1-1/2* X 2-5/8" X 31-1/2* (32" SECTIONS) 2 X 6 SOUTHERN YELLOW PINE 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: +347.2 LBS/FT
__| SIDEROOM r -1/2* X 2-5/8" X 27-1/2 (28" SECTIONS’ (NO. 2 OR BETTER) & -3944 LBS/FT
3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED AND INSTALLED
(7> 20 GA. CENTER STILES WITH STANDARDS AS SET FORTH BY DASMA.
OPTIONAL STOP MOLDING ATTACHED WITH (2) CLINCHED JOINTS 20 GA. GALV. STEEL END 4. DOOR SECTIONS SHALL BE 24 GA. <022> MIN. EXTERIOR SKIN ROLLED
W/ FLEXIBLE SEAL: AT THE TOP AND BOTTOM RAIL STILE ATTACHED WITH (11 FORMED, W/ BAKED ON POLYESTER FINISH
(SUPPLIED BY INSTALLER) AND ADHESIVE TO INTERIOR FACE J LINCHED JOINTS TO DOORS 5. DOORS UP TO 8'0° HIGH CONSIST OF (3 SECTIONS AS SHOWN, USE (@ 55°
. SKIN AND (2> AT THE TOP R-TRUSSES PER SECTION
AND BOTTOM RAIL 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED

12 GA JAMB BRACKET
ATTACHED TO JAMB W/<(1)
5/16" X 1-5/8" LAG BOLT

AND ATTACHED TO TRACK W/
1> 174 X 5/8” SPICE BOLT

S 1/2°H X 18 GA.
(S’ R-TRUSS>

VA

/ #3 14GA. ROLLER CARRIER ATTACHED TO R-TRUSS
W/ (3> 1/4* x 3/4" HEX HEAD SCREWS

TRACK MOUNTING DETAIL

N.T.S.

PROFESSIONAL ENGINEER FOR WIND LOADS INDICATED ON THIS DRAWING IN
ADDITION TO OTHER LOADINGS.

2" GALV. STEEL TRACK

TRACK THICKNESS .083"

THE METHOD OF TESTING WAS IN SUBSTANTIAL

CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM E330,
AND TAS 201, 202, AND 203. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE

20 GA. GALV. STEEL UNIVERSAL
DOUBLE END STILE ATTACHED
WITH <2) RIVETS OR CLINCHED
JOINTS TO DOORS SKIN AT TOP
AND BOTTOM

SECTION A—A (SIDE VIEW)

1D

L

hI

; ——12 GA. (MIN.) GALV. COMMERCIAL
TOP ROLLER BRACKET ATTACHED
WITH <4> 1/4" x 3/4'’ HEX HEAD
UNIV. SCREWS PER BRACKET
ADJUSTABLE SLIDE BRACKET IS
ASSEMBLED WITH (2> 5/16" x 3/4/
BOLT & NUT PER BRACKET.

(@ 55" X 18 GA. R-TRUSS PER
SECTION EACH ATTACHED W/(2>
1/4* X 3/4’ HEX HEAD SCREWS
AT EACH CENTER STILE AND <4)
AT EACH END STILE

27 10 BALL STEEL 9.5 LONG STEM
HURRICANE ROLLER W/ RETAINER
USED FOR NON THREADED SHAFTS

COMMERCIAL ENDSTILE
SLIDE LOCK ATTACHED
TO R-TRUSS W/ <4
1/4* X 3/4° HEX HEAD
SCREWS

BOTTOM BRACKET

13 GA (MINJDATTACHED
W/(3) 174" x 3/4"
HEX HEAD SCREWS

N.T.S.

LARGE MISSILE
IMPACT
RESISTANCE

REV | DESCRIPTION OF REVISIONS DAE  [BY
A | PER ATL REVIEW (ATLNC0828.01-07, 9/25/2007) | 10/4/07 | SKW
B | ADDED WOOD JAMB ATTACHEMTN TO STRUCTURE | 1/28/08 | SkW
C | WIND SPEED TABLE & TRACK CONFIGURATIONS 5/2/12 | RIR
MAX SIZE
16’ x 14’ \‘\\\\\
DESIGN LOADS
+43.4 PSF
—49.3 PSF

Q-/
Oz {ICENSED- \\‘04

XTI

W\ fIONALE“ =

AR g

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

arr,

MODEL #500 CLASSICA

END ZONE, ROOF AT ANY SLOPE): 1000 & 2000

WIND SPEED (MPH) | 169 | 154 | 146 | 139 | 134 SZE| DRAWNBY  SKH| DATE 9/13/07 DRAMNG NUMBER
EXPOSURE LEVEL B ¢ C D D B[ cueckep sy scw| oA 9/13/07 IRC-5516-170-26-1
MEAN ROOF HEIGHT | 30' | 15 25 | 15 25

ENGINEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579

SHEET 1 OF 2



Tom
TX

Tom
TLS

Tom
Reviewed


OPTION L

LOCK PLATE SHARED
WITH JAMB BRACKET
FOR VERTICAL TRACK

OPTION 2:

LOCK PLATE USING
SEPARATE JAMB
BRACKET

13 GA. FLAG BRACKET ATTACHED TO wOO

JAMB/ (3) 5/16 DIA. X 1-5/8*
TO TRACK W/ <4) 1/4"-

(SPLICE)

H
THROUGH
N

WOOD JAMB ATTACHMENT TO STRUCTURE

STANDARD TRACK CONFIGURATION FOR 66"

N.T.S.

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS THEN 14" O.C. (1 1/2” EMBEDMENT)
12 GA LOCK BRACKET 2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE
ATTACHED TO JAMB BRACKET HILTI KWIK BOLT 3/8” X 4” STARTING 6” FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT)

[ = ==t LW/ ) 1/4* X 5/8 SPICE HILTI SLEEVE ANCHOR 3/8" X 2—3/4" STARTING 6" FROM ENDS THEN 12" 0.C. (1 1/4” EMBEDMENT)
gEIEITcQNéJnJTD TRACK W/@@) ITW/RAMSET REDHEAD (TRU—BOLT) 3/8" X 4" STARTING 6” FROM ENDS THEN 24" 0.C. (2 1/2” EMBEDMENT)
1> GA JAMB BRACKET 2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—90 BLOCK
ATTACHED 1O JAMB W/ I SIMPSON 1/4” X 3” TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3” APART)
5/16° X 1-5/8° LAG BOLT AT 8” 0.C. (1 1/2" EMBEDMENT)

oY AND ATTACHED TO TRACK W/ HILTI 1/4” X 2—3/4" KWIK—CON Il+ SCREWS STARTING 6” FROM ENDS, USE PAIRS OF FASTENERS (3" APART)
18 ] | @> 1/4 X 5/8" SPICE BOLT AT 8” O.C. (1 1/4" EMBEDMENT)
COMMERCIAL SLIDE LOCK 2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PS| GROUT
ATTACHED TO R-TRUSS W/(4 HILTI SLEEVE ANCHOR 3/8” X 2—3/4" STARTING 6” FROM ENDS THEN 14” 0.C. (1 1/4” EMBEDMENT)
| 1747 X 3/4° HEX HEAD SCREWS (OR, USE FASTENERS FOR HOLLOW C—90 BLOCK)
AND ENGAGED INTO LOCK
BRACKET DURING A WIND LOAD *LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
mxf *PREPARATION OF WOOD JAMBS BY OTHERS
WOOD CONCRETE HOLLOW BLOCK GROUTED BLOCK
£ STRUCTURE STRUCTURE STRUCTURE STRUCTURE
% — -
a
& \ \
LOCKING SYSTEM DETAILS = | | |
N.T.S. e - - -
=] =
g 5 : | | I
x 3P & g g 172" MIN 2-3/4* MIN 1-1/2* MIN 47
g E g g h 5 2xs JAMB —
3 MIN
LAG BOLTS AND
20 x 5/8" TRACK i
SPLICE BOLTS AND NUTS Ll LA L
AVAILABLE TRACK CONFIGURATIONS
SPLICE TRACKS AT THIS LOCATION n
W/ <4 17/4“-20 TRACK SPLICE REV | DESCRIPTION OF REVSIONS DATE  [BY
——]~——BOLTS & NUTS SECURE TO JAMB
WITH (3> 5/16 DIA. X 1-5/8 LAG A | PER ATL REVIEW (ATLNC0828.01-07, 9/25/2007) | 10/4/07 | SKW
I BOLTS B | ADDED WOOD JAMB ATTACHEMTN TO STRUCTURE | 1/28/08 | SkW
C | WIND SPEED TABLE & TRACK CONFIGURATIONS 5/2/12 | RIR
1> 5/16* DIA. x 1-5/8”
’ LAG BOLT ATTACHED TO JAMB TABLE 1 "122( XS|124E,
AT EA. JAMB BRACKET DOOR TRACK ATTACHMENT SPLICE
HEIGHT[A[ B C|[DJEJF[G[H[I[JJ[K]JL[M]N] s DESIGN LOADS
12 GA. GALV. STEEL 6'6" 3" | 14" | 27" | 38" | 46" | 56" | 64" 70" —49.3 PSF
JAMB BRACKETS 1 " " " n " " T} T}
ATTACHED W/ (1) 1/4’-20 x 5/8* 7 3 14 27 38 46 56 68 76
TRACK SPLICE BDLT & NUT 7I 6" 3" 14" 27" 38" 46" 56" 68" 78" 82"
8' 3" 114" | 27" 38" | 46" | 56" | 68" | 78" 88" LARGE MISSILE
1 n n n " n mn " " n 11} " IMPACT
86 3" | 14" ) 27" | 38" | 46" | 56" | 68" | 78" | 88 94 RESISTANCE
F 9I 3" 14" 27" 38" 46" 56" 68" 78" 88" 100"
[- 9! 6" 3" 14" 27" 38" 46" 56" 68" 78" 88" 98" 106"
] 10' 3" | 14" 27" | 38" | 46" | 56" | 68" | 78" | 88" |100" 112"
[ 10'6" | 3" | 14" | 27" | 38" | 46" [ 56" | 68" | 78" | 88" [100"(110" 118" arr
] 11 3" | 14" 27" | 38" | 46" | 56" | 68" | 78" | 88" |100"(110" 124" A
* 11' 6" 3" 14" 27" 38" 46" 56" 68" 78" 88" 100" 110" 120" 130" 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM
A N 12 3" | 14" 27" | 38" | 46" | 56" | 68" | 78" | 88" |100"(110"|122" 136"
e cnne o roe T 126" |3 | 14" [ 27" | 38" | 46' | 56| 68" | 78" | 88" [100°[109"[122'[132" 1z | (MODEL #500 CLASSICA
JAMB BRACKET SPACING 13 3" | 14" 27" | 38" | 46" | 56" | 68" | 78" | 88" |100"(114"|122"| 134" 148" 1000 & 2000
UP TO 14’ TALL DOORS 13 6 3" 14" 27" 38" 46“ 56" 68" 78" 88" 100" 109" 122" 134" 144" 154" SIE| RN BY  SKN| DT 9/13/07 JRATING NUNBER
14 3" | 14" 27" | 38" | 46" | 56" | 68" | 78" | 88" |100"(114"|122"(134"|146"| 160 IRC=5316-170-26-1
B | CHECKED BY SKW| DATE 9/13/07
ALL TRACK ATTACHMENT +/- 2 WITH SYP NO. 2 OR BETTER

ENGINEER:  THOMAS L. SHLMERDINE P.E. LIC. No. 0048579

SHEET 2 OF 2



Tom
TX

Tom
TLS

Tom
Reviewed


	5316-170-26-I UPDATED 6-20-12
	pg2

